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Roll No. 1069 - ) |osce Inter (Part 11) __I-—Group Ist |

Physics (Subjectiva) | Ist - A - Exam | Time 2:40 Hours Marks : 68 Sestion
' ' 2023 | (2019-21) to (2021~ 23)

Note : It is compulsory to attempt any (8 - 8) Parts each from Q.No. 2 and Q:No.3 and attempt any (6) Parts from Q.No.4.
Attempt any (3) Questions from Part~ Il Write same Question No. and its Part No. as given In the Question Paper.

Make Diagram where necessary. Part - | I 22x2 =44

Q.No.2 | (i) |Do Electrons tend to go to region of High Potential or of Low Potential ?

{ii) |Is E necessarily Zero inside a charged rubber balloon if balloon is spherical ?
Assume that charge is distributed uniformly over the surface .
(iii) | How charged particle work during their flight in Inkjet printer ? =0

(W) | What is Potential Gradient ? Give its units. ”lJ dexpert'

(v) | Why the Resistance of an Ammeter should be very low ?

(vi) | If a charged particle moves in a straight line through some region of space, can you
say magnetic field in this region is zero?

(vii) | How you express Magnetic Flux ? On what factor it depends ?

{viii) | How we can increase the range of Voltmeter?

(ix) | What do we mean by the term Critical Mass ? i
(x) | What do you understand by “ Background Radiation” ? State two sources of Radiation.
(xi) | What do you mean by Quark ?

(xii) | What is Radiography ? What is its importance ?

Q.No.3 | lll | Why does the Resistance of a conductor rise with temperature ?
(i) | Do bends in a wire affect its Electric Resistance ? Explain.

{iii) | Name any four sources of Current.

(iv) | Explain the conditions under which Electromagnetic Waves are produced from a source. |
(v) | How many times per second will an Incandescent Lamp reach maximum brilliance |
when connected to a 50 Hz source ?

{vi) | What do you mean by Root Mean Square Value (rms)?

(vii) | Differentiate between Crystalline Amorphous and Polymeric Solids ?

{viii) | What is meant by Para, Dia and Ferromagnetic Substance ? Give example of each.
(ix} | Explain what is Curie Temperature ?

(x) | Why a Photodiode is operated in reverse biased state ?

(xi) | What is the Net Charge on a n—type or p—type substance ?

(xii) | The input of a gate are “1° and ‘ 0’. Identify the gate if its output is

(a) o (b) 1 |
Q.No.d | (i) | What does Negative Sign in Equation of Faraday’s Law indicate ? |
(i) | Define the SI Unit of Mutual Inductance Henry.

{iii) | Cana D.C. Motor be turned intoaD.C. Generator? What changes are required to be done ?
{iv) | Which Photon red, green or blue carries the most : (a) Energy and (b) Momentum ?
(v) | Which has the Lower Energy Quanta Radiowaves or X—rays?

{vi) | From theory of Relativity, derive the expression of Momentum of Photon.

(vii) | What is Energy of a Photon in a beam of infrared Radiation of Wavelength 1240 nm ?
(viii) | What do we mean when we say that the atom is excited ?

(ix) | Differentiate between Spontaneous Emission and Induced or Stimulated Emission. |

IPart-lll 3x8=24

Q.No.5 | (a) | State and Explain Coulomb’s Law. (5)

7
(b) |1.0 x 10 Electrons pass through a conductor in 1.0 . Find the current in

-19
Ampere flowing through the conductor. Electric Charge is 1.6 x 10 G, (3)
Q.No.6 | (a) | What is Motional emf ? Derive an expression for it . (5)
(b) | What current should pass through a Solenoid that is 0.5m long with 10,000
turns of Copper so that is will have a magnetic field 0.47? (3)
Q.No.7 | (a) | How Transistor can be used as Amplifier ? Explain with Circuit and derive
expression for voltage gain. (5)
(b) | What is the Resonant Frequency of a Circuit which includes a coil of Inductance =
2.5H and a Capacitance 40 UF ? (3)

Q.No.8 | (a) | Describe the Wave Nature of Particle. Also discuss Davisson and Germer Experiment. (5)

(b) | A 1.25cm diameter cylinder is subjected to a load of 2500 Kg. Calculate the

stress on the bar in Mega Pascals, (3)
Q.No.9 | (a) | What Is Spectroscopy ? Derive the expression that in Bohr's Atomic Model of
Hydrogen Atom, Bohr’s Orbital Energies are Quantized. (5)

= “ | (b) | How much energy is absorbed by a man of mass 80 Kg who receives a lethal
whole body equivalent dose of 400 rem in the form of low energy Neutrons for
which RBE factor is 10 ? (3)
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| RailNo. | 10703 oeco inter(Part 1) | Group2nd |
| Physics (Subjective ) ‘Ist - A - Exam i Time 2:40 Hours Marks : 68 Sesdlor I
| 2023 | ‘ (2019 -21) to (2021-23) |

Note : It is compulsory to attempt any (8 - 8) Parts each from @.No. 2 and Q.No.3 and attempt any (8) Parts from Q.No.4.
Attempt any (3) Questions from Part - Il Write same Question No. and its PartNo. as given in the Question Paper,

Make Diagram where necessary. I | Part- | I

'Q.No.z“_[ll Define Potential Gradient . Give its unit. o J
!EI,_)_ What are the Photoconductors ? |
(111) Do Electrons tend to go to region of High Potential or of Low Potential ? [

i =1

(V) | How can you identify that which plate of a capacitor is positively charged ? [

{v) | If a Charged Particle moves in a straight line through some region of space, can you
say that the Magnetic Field in the region is zero ?
(Vi) | Suppose that a charge ‘q‘ Is moving ina uniform magnetic field with a velocity ‘v ‘. [
Why is there no work done by the Magnetic Force that acts on the charge q? |
(vi) | How can a current loop be used to determine the presence of a magnetic field in a |
given region of space ? |
(viii) | How can we increase sensitivity of a Galvanometer ? i
(ix) | Why are Heavy Nuclei unstable 7 Al
(x) | What are Isotopes ? What do they have in common and what are their differences ?
(xi} | What factors make a fusion reaction difficult to achieve ?

{xii) | Explain the working of Control Rods in Nuclear Reactor.

Q.No.3 | () | A Potential Difference is applied across the ends of a copper wire.What is the effect
on drift velocity by decreasing the length and temperature of the wire ? |
(i) | Why does the Resistance of a conductor rise with temperature ?

(ili) | What Is Chemical Effect of Current? |
{iv)] | How many times per second will an Incandescent Lamp reach maximum brilliance [
when connected to a 50 Hz source ?

(v) | What is Choke ? Give its uses

{vi) | Write down the properties of Series Resonance Circuit.

{vil} | Distinguish between Crystalline Amorphous and Polymeric Solids.

{vili) | What is Unit Cell and Crystal Lattice ?

{ix) | Differentiate between Tensile and Compressive Modes of Stress and Strain.
(x) | What is the Net Charge on a n—type or a p—-type substance ?

{xi) | Why charge carriers are not present in the depletion region?

(xii) | Why is Photodiode ? Give some uses of Photodiode.

Q.No.4 | (i} | How Induced Current can be increased ?

AP
(i) | show that £ and 57 have the same units.

(i) | Is it possible to change both the area of the loop and the magnetic field passing
through the loop and still not have an induced emf in the loop?

{iv) | Write Postulates of Special Theory of Relativity .

{v) | State Stephan Boltzmann’s Law and write its Mathematical Relation.

(vi) | What are the measurements on which two observers in relative motion will always
agree upon ? |
{vii) | As a Solid is heated and begins to glow, why does it first appear red?
{vill) | Describe De — Broglie’s Interpretation of Bohr's Orbits.

(ix) | Is Energy Conserved when an Atom emits a photon of light?

|Part-|1 |3x8=24 i

ﬂatsw.s {a) | State Gauss's Law. Find out the Electric Intensity due to an Infinite Sheet of Charge. | (5) |

ol M e

{b) | 0.75A Current Flows through an Iron Wire when a battery of 1.5V is ‘
connected across its ends. The length of the wire is 5m and its Cross Sectional

-7 2

Area Is 2.5 x 10 m . {3) ‘

Q.No.6 | {a) | What Is Solenoid ? Derive an expression for Magnetic Field inside the Current !
Carrying long Solenoid. (s) I

{b) | The turns ratios of a step up transformer is 50. A current of 20A Is passed through |
its primary coil at 220 volts, Obtain the value of the Voltage and Current in the |

Secondary Coil assuming the transformer to be ldeal One. 3) |
_Q.Fu_nj'.'_ 'ia) What |s Operational Amplifier ? Describe Operational Amplifier as Inverting and 4\

Non - Inverting Amplifier . {s) |

Find its Impedance. 3

)
" Q.No.8 | (a) | What s Strain Energy ? Derive a relation for Strain Energy of a deformed material? | (s)
{b) | Yellow Light of 577 nm Wavelength s Tncident on a Ceslum Surface.
The stopping voltage is found to be 0 .25 V. Find the Work Function of the Cesium, [il
Q.No.9 | (a) | Using Bohr's Second Postulate, find the value of :

(b) | When 10V are applied to an A.C. Circuit, the current flowing in It is 100 mA . \
4

(1) Quantized Radil and (il) Quantized Velocities In Hydrogen Atom. (5) r

e | m—r =4 e |
(b) | The Element 23‘{?{1 is unstable and decays by f — Emission. State the 1

Nuclear Reaction and Daughter Nuclel. 3) |

|
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Chemistry (A) L.K.No. 1072 ' Paper Code No. 8482 I

|
Paper | ( Objective Type) | Ist — A - Exam - 2023 _ﬁi_r::_up 2 )1_”
Time : 20 Minutes Inter ( Part 1) A
Marks 17 Session (2019-21) to (2021-23) b

Note : Four possible choices A,B,C,D to each question are Eiven.Wh'L‘cj'i choice is correct fill thatl
circle in front of that Question No. Use Marker or Pen to #7° % * = # i ~ 5918 na ruafGt roté
circles will result in Zero Mark in that Question.

Q.No.1 | Oxides of Beryllium are :
(1) (A) Acidic (B) Basic (€] Amphoteric (D) Neutral
(2) | The number of Elements classified by Newlands in the Periodic Table are : o :_
(A) 38 @ 62 (f 92 (D) 85 |
(3) Which of the following elements is not present abundantly in Earth’s Crust :
(A) Silicon (B) Aluminium (€} Sodium (D) Oxygen
(4) Oxidation of NO in air produces : (A) N0 (B) N203 LG)’/Nzoq (D) N30s
(5) Hydrogen Bond is the strongest between the Molecules of :
(A HE (B) HCl (C) HBr (D) HI
(6) | f—block elements are also called
(A) Non Typical Transition Elements (B) Outer Transition Elements
(€C) Normal Transition Elements Mner Transition Elements
(7) | The Linear Shape is associated with which set of Hybrid Orbitals
a7 sp (8) spo () sp (D) dsp’
(8) Preparation of Vegetable Ghee involves
(A) Halogenation ,(,B‘)/Hydrogenation (C) Hydroxylation (D) Dehydrogenation
(9) | The conversion of n-hexane into Benzene by heating inthe presence of Pt is called :
(A) Isomerization Aromatization (C) Dealkylation (D) Rearrangement
(10) | Grignard Reagent is reactive due to
(A) The presence of Halogen Atom (B) The presence of Mg atom
he polarity of C— Mg bond (D) None of these
(11) | Which Enzyme is not involved in fermentation of Starch :
(A) Diastase (B) Zymase MEase (D) Maltose
(12) | The Carbon Atom of a Formaldehyde is
(A) sp - Hybridized {87 <p>- Hybridized (C) sp° - Hybridized (D) dsp> - Hybridized
(13) | Acetic Acid contains
(A) A Hydroxyl Group ,(-Bi/A Carboxyl Group
(C) A Hydroxyl and Carboxyl Group (D) A Carboxyl and an Aldehydic Group
(14) | Which of these Polymers is_a Condensation Polymer :
nylon-6,6 (B) Polystyrene (C) Polyethene (D) Polyvinylchloride |
(15) | Which Woody Raw Material is t;::d/fqt the manufacture of Paper Pulp II
Eucalyptus (B) Bagasse (C) Wheat Straw (D) Bamboo i
(16) | Which One is most Toxic : (A) CO; (B) CO (C) Oz (D) CHg 1'
(17) | Ethanol can be converted into Ethanoic Acid by  :

(A) Hydrogenation (B) Hydration (C) Oﬁttion (D) Fermentation

C—————g——— ]
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‘ Roll No. 1073 - ) Yoo Inter (Part -_II] ~ Session

—

(2019 -2021) to (2021 -2023) |

mlqu ( Subjective ) Ist - A - Exam 2023 _LTime 2:40 Hours Marks : 68

e —————————————————

Note: It is compulsory to attempt any (8 - 8) Parts each from Q.No. 2and Q.No.3 and attempt any
(6) Parts from Q.No.4. Attempt any (3) Questions from Part - Il. Write same Question No, and its Part
No. as given in the Question Paper.

Make Diagram where necessary. ! Part- | l _

Q.No.2

Q.No.3

Q.No.4

Q.No.5

Q.No.6

Q.No.7

Q.No.8

Q.No.9

(i)
(i)
(i)
(iv)
(v)
(vi)
(vil)
(viii)
(ix)
(x)
(xi)
{xii)
(i)
(if)
(iii)
(iv)
(v)
(vi)
(wvil)
(wviii)
(ix)
(x)
(xi)
(xii)
(i)
(i)
({]
(iv)
(v)
(vi)
(vii)
(viil)
(ix)

(a)
(b)
(a)
(b)
(a)
(b)
(a)
(b)
(a)
(b)

What will happen if an animal cell is placed into a Hypertonic Solution?
Mention two desert adaptations of Xerophytes.

What are Pyrogens?

Why does water enter into the vacuole and hence create turgidity to the plant cell ?
How does Epinasty lead to opening of Floral Buds?

How are Muscles arranged at hinge joint ?

How is seed dormancy important for plant survival ?

Give the method to produce Test Tube Babies.

Differentiate between Climate and Weather. 1

What Is Tundra Ecosystem ? mJ d eXpe rt .com
How Kinetic Energy of water is used to produce electricity ?

How Oxides of Nitrogen and Sulphur can cause Acid Rain?

Differentiate between Reflex Arc and Reflex Action.
What are Effectors ?

Define Epilepsy.

A Single gene affects two or more traits, Give examples.

The blood group phenotype of a person can be changed. Comment on it.

The first Rh - Incompatible pregnancy may not face much problems. Discuss it.
How genetic library for a certain gene can be traced ? Comment on it.

How gene of interest is inserted into a vector ? Discuss it.

How health of plants can be promoted ? Give examples.

What is Niche ? Give its elements.

Differentiate Autecology from Syneocology by giving examples.

What is Predation ? Give its significance.

Define Regeneration. Write its two examples.

How Inhibitory effect is differ from compensatory effect during growth correlation?
What are Chromosomes ? Also write number of Chromosome in Mouse and Sugarcane .
Differentiate between Leading and Lagging Strand.

What are Purine ? Give example,

What is Mitotic Apparatus ? Write its function,

Define the term Synapsis and Crossing Over.

What are Hydrothermal Vents ? How did they support life ?

Write down any two points of Darwin Theory.

Describe the structure of Nephron with a labelled diagram. 3+1= (4)
What is Interphase ? Describe the details of Sub phases of Interphase. 1+3 =(4)
How does Secondary Growth occurs ? Give its significance., (4)
Define Succession. Discuss Xerosere in detail, (4)
Explain the factors affecting Gene Frequency, (4)
Describe the Feedback Mechanism. Also draw the diagram, (4)
Define and explain the process of Vernalization, (4)
Explain Erythroblastosis Foetalis and how it can be prevented ? (4)
How External and Internal Factors play their role in Plant Growth Rate? (4)
Write a detailed note on Gene Sequencing. (4)
LS s T oA
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Computer Science | | (A) i'i.';'u.liﬁ. 1075 | Papor Coda No. 8831 |
Paper I [_Dﬁntliu Ty'l'-'-u I | _“!-l- -_l_" hm e iﬂ!i ) |
e 20 Minutes | Inter ( Part- 11 | Session (2019 - 21) 1o (2021 - 23} '
Marks : 15 e | |

{ impartant Instructions |

Mote : Q.No.1 from Sr.No.7 to Sr.NG.15 Is of 1wo types | () €~ Language [Il) Visual Batlc, The candidates
are required to attempt atiy one of them, While QLNo.1 from Sr.flo, 110 Sr.hod s compulsary
for all candidates,

Mate : Four possible cholces A, B, C,D to pach guestion are given, Which cheolee s comrect fill that
circle In front of that Question No, Use Marker or Pen to il the circles. Cutting ot filling twa or more
cireles will result in Zero Mark in that Question.

ms - access mjdexpert.com

Q.No.l | In 2NF, which form of dependency is removed : .

1) {A] Partial Functional (8) Non - Functional (C) Associative (D) Transitive

{2) | Which file is used to store information that remains canstant for a long time : =]
(A) Data File (B) Master Fila [C) Transaction File (D) Backup File !
(E]] Which of the following is used to associate entitins with one another : [
= i " (A) Entity (6] Attribute (C] Relationship (0) Refation

(4) | The output of a Query is In the form of :  [(A) Form (8) Query [C) Table (D) Macros

{5] | To find all names start with F , from Table, eriteria is :
(A) Uke “F 7 “ (B) ke “F=" (C) Like “F# * (D) Like "F*"

(6] | An Attribute is also known as : (A] Record (B) Row (C) Field (D) Relation
[ C - Language ]

[7) | Which of the given is a Valid Character Constant : (B} B By @t g et (o) =

(&) What is the variable that is used by a lunction to receive an argument :

[a] Expression (B) Parameter (€} Constant (0] Function |
9] In which leop , Initialization Is the part of Its syntax : (A} for (B} do - while [C] while loop (D] for each |
{10] | The number of digits after a decimal paint is called

(&) Significance (B8] Range (C] Frecision (D) Scope

(11) | The escape sequence begins with : W { @ # ©@ « o \
[12) | Conditional Operater is an alternate of : (A) If (B) If-ele |C] Nested I (D) 1f=Else =1f

{13) | Which Programming Structure Executes Program Statements in an order
(&) Sequence (B8] Relation (C) Decision (D) Repetition

{14) | In C—language int Is - {A) Special Word (8) Keyword (C) Cut Word (D] First Word
{15) | The number of Bytes wsed by Int data type in C I;_ . (a) 2 (B} B () 12 (D] 16 |

71 | A string literal must be enclosed in w { } € (1 (o

(8} What is the variable that is used by a function to recelve an argument @ i
(A) Expression (B] Parameter (C) Constant (o) Function |

(9) | Which of the following leop is also known as Counter Loap !
‘ (&) For Next (B] While (¢} Do=While (D} Do- Loop |

i i

(10) | A Project File is saved with the given extension ¢ (A) « frm (8] «bmp (€] Jvbp (D) Jfex

I [11) | Which Ewents occurred after a form has closed :
| {A) shut Down [B) End Close (C) Form Opening (0] Form Closed

" (12) | Which of the given is nat a Visual Basic Data Type : (A) Byte (B) Register [C) Long (O] Integer
{13) | Which of the following reverse the Boolean Value of a Relational Expression

- (M _NOT (B} AND (C)] OR (D} BUT
which method s used to delete an item from the list box :

(A) Add ltem (B) Remove item (€] Clear ltem (D} Erase ltem

LS
[ The number of bytes used by integer datatype in VB 5 @ (M) 2 (8) 8 (€ 12 (D) 16

EITEET {
{14)

() |

e — ——

p———
(15)



mjdexpert.com




mjdexpert.com




mjdexpert.com




mjdexpert.com

mjdexpert.com




mjdexpert.com




mjdexpert.com




mjdexpert.com




mjdexpert.com




mjdexpert.com




mjdexpert.com




mjdexpert.com


)}, then o

YT hee=
Distribution [
R y

e =
gpulation

Enumeration

m C in n ot
1A}



mjdexpert.com




mjdexpert.com




mjdexpert.com




mjdexpert.com




mjdexpert.com




mjdexpert.com




mjdexpert.com




mjdexpert.com


40 Nij



mjdexpert.com


mou:

eel?



mjdexpert.com




mjdexpert.com




mjdexpert.com




mjdexpert.com




mjdexpert.com




mjdexpert.com







mjdexpert.com




mjdexpert.com







mjdexpert.com




mjdexpert.com

mjdexpert.com





_— —'it.;lf. -

e

0 * =y
y ot

i



mjdexpert.com




mjdexpert.com




mjdexpert.com




mjdexpert.com




